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A. All feet thread not in one shoe

B. Great minds thin alike
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D. (A)e (C) B=1} |
TNt : Ry eyt erm exee-
|| M -2AI5A Translation
S — All feet thread not in one shoe
' Many men many minds
o1 TR G (s W | Tt for tat
CFTITS #A191, #I1eA 2y Greed leads to sin and sin
to death
@ 3 (57 T4 As you sow so you reap
Ans : D. :

fss 3t I o e
A. [SH @237 GiF =t
[ C. o fafils zea
Ans : A. .
5" 1t HHeE A% Ruw @t 2

A7+ B.9+% C.4+%&F D.3j+%w
TR : » TW QA T-IT o B B B A=A

B. Znife Aawr i3
D. IRY5ET v”

fom | #hiRww | ™
T+T=T7 51+E'5: 9%
%+%=% 99 + G ﬂ‘ﬁ'
T+6=10 §+%’¢f ﬁﬁ

Ans : A,
B I RS TRe F O S T - S Ko 0
I99 ¢ fef® fAfy o2 :
A. g %= B. S#HIC 1
C. sz 58 D. 361 %8l
JMGT : (A M7 (A ST (L GO A G a0 fara
HETS ZR) @RI, OIF W4 TS 307 | .
wrE fre Ti3e g Seri offa 6| W8 i Tuie o
s IS @92 TP [l | | S

Ans : C.
N Fosx @i rites i forea wes 9K TwRr

A. J4EIE, D (1 TCSNT; dhbry

B. by, % 75, wWifems, 6191 0@

C. c1itergt Fta e nfe Fa o

D. S1g! B I 4 | THA, W (AZ T2 39 B
ML - o T (1) FBF; TTART ST FCT T TR T
o3 (1) ozl 071
- tﬂml'ﬁwq'ﬂ'l _

T | TS (AR CHICR IR A |

o SIS A0 TR 09 I IR RF |
Ans : D. '
A BorFa AT IR e Qe
A. =i Rl B. 7o 38
C. firs If D. 31 IRF

- Eii

(TGt 0 AT T (3520) *EEH FWIAGE AS A
| o ‘TEE T A0 WA @@ e TA AT Qe

|t : Rt Temtmotes St ime PR ergeyd e

w:ﬁguﬂ’ﬁm-
et hul
5o0d NIH | o f&f
SO0 g
eyl CEEIL|
WIE oF R0 A
WTS] NEIYS | eI A |
Ans : A.
So, *GH SR ‘T LU’ @ QA P, G Zeem-
A. eifie o B. =iferer (!
C. 7 Q) D, ufe @

AMEE SR @ FAE AR 2 TFe Fas gy |

s T |
o e (F1- *ATHA ISMHA Ty
Ans : D, '
39, ‘Gl TOWTR IPM S T W WA Y3 AR5 T
o | &1 |
A. 4l

Befim  C.3%  D.s-siR

o 7 TTHTR F10191 S I07 WioH T 33 A[F6! I0F ¢ |
o (T I[N A7 (51 1 (317 '
o WifT Witst (51 YoATSI-QoATTl TS SIS =1 |
e IF FAS-TWR Wl (5 (1 (I SIS o678 7] |
° SF TS FL ©IS (TG = AR |
Ans: C,
TR 4SS 02

A. v B. <6
I : 0 SIS & TSy
AACH BN AT

‘ﬂﬂT: g HqH, ﬁﬂm M, SOFY W,mm: ﬁ“
?TII'I"‘I. SIS A |

C.f&af6 D.=ufo

I RUTreRE @ S 0 a3 meeE wdE oqm
HEIF R | (O - T @ o = Vet | : |
o TRFT WM : [T Refew emet @ T m g @

AT R S 4T O @RI S1% SesE I |
THA-RACE Sy = Remiety) | '

* IQFR TG ¢+ @ TG IPIAR *MoER @RDT w4
T, S =ATF AT ST TG 0 0 |
A9-0<AT 1Y W‘Tﬁ:'ﬁ]@ﬁ]ﬂqﬂ'|

R R e R L i Er oo S ———
ﬁm%ﬁamwmsﬁﬁaw|

-5 S e = g |

* YA TR 1 o SR LIRN e
mwm,mmwﬁﬁaw;mﬁw
W-WWW:WE|

Ans : D.

——_-_




_“ F:2016-2017 (307)

bb. memmm?ﬁmwmﬂwﬁm N ‘e’ v Rededs == @rb?

....... A. Roass
Aﬂmﬁfﬂfﬁﬂ'ﬂ B. (@ Qs (Sterz w4 C. 7 [B}:E
C. @ Gilta TR 1 D. @ o e R T T
T o A SPrTn a ww cor Se E b o o)

52 T = AT | ame | S | e |
(B ¢oICH oI Tt TR Wi IS T o, T = w;;m
mﬂﬂﬁﬁﬁﬁﬁm@ﬁﬂmmﬁﬁl s AN | &t wagq eitae
TR O GO el TN S 2 9 e, 3 WS | S W | o |

TR PO IR S T W 7 | = 3

Ans : C. Al :ﬁ : i il o |

§: ' i |

Xo. mwmaﬁwmwr
A SF=ws B.vgeRa C.3wA D, AN

e mwcﬁ’lmm amwﬁﬁwr

[t : o IMFAGH SLAGITT ST bb-b-wnﬁaaﬂﬁrﬁ
mtaﬁﬁmaﬁmﬁﬂmu
.-mmmmﬁcﬁmmwﬂ
BRI A0S T |
'ﬁm%w&ﬁ%ﬁ@ww@ﬂ?ﬂﬁ%l
‘o 3 TORITT It WeAW AN wRt IRITES- i"tﬂﬁﬁ@ﬁi’r
SITHEED A |

Ans : A,

T T G Pl TS oA - SR i v
A. 94 T B. G ¢ F
C. TFR-F D. S #fe

ﬂ_ﬁﬁﬁmﬁ'ﬁwm mﬁmmwmﬁ

[ : o “WINE AL AIHO PG, TOFE A emm
"?H-w (AT DTS TR |- -

‘SR Y AR g ewgd B d '
-mmmwwﬁwmwwﬁwmr
o (4-%d &I FreRR fAraidl, mwwwﬁﬂﬂimﬁﬁfﬁw

ﬁmﬁmmmmﬁm@ﬂﬁwmmm
S @, cﬂmﬁﬂwwwmﬁﬁhmm I
¢ (IT BT & (AW- Wwwml Fopt
-ﬁmﬁmammawwwl

: o IR GARA A (b‘u'ht;-bhd'ﬂ) e &mﬁﬁ'ﬂ
Eﬂﬂmﬁamﬁwwmﬁwm1 ol
| @ O &F G FRER FA W@WWW?&W

youl 3BT (vvee) |
° ‘aﬁmw'mwm%‘ﬁwm mﬁv‘

Ans : A.
‘Perjury’ — a7 AfCis T GFF@‘ ?

A eeifem B futars C.afes D, 3w/
N : F&gwqﬁﬁ'ﬁﬁvw- -
e et |
Perjury ﬁmﬂ Tribal | A
Aboriginal ATH] Ultimatum | F¥¥%4
Accord LEIlg] Warehouse | S
Act IR Waitress | “TpI3!
Acting | 9%a0/oweNG | Year book | T
Ans : B.

AHEC

B. gRwiaS fGmfaorrad
D. e feraiReed

A. S@Ee faiEeEd
C. Fns ferfaesd

PR : Tl (RO sfod- -
ﬁﬁamﬁwwwﬁﬁmwmum

o SiET ¢ gf 0w W TS (RGTS I |
| & S : WTWW| :
° TS : cm‘r‘-‘m CE‘!T?-‘I wmm ] A |
Ans $ A,

Read the fﬂ!fﬂwmg passnge carefu!{p mld answer

questions 26-30.
The first English attempts to colonize North Amenca

were controlled by individuals rather than cnmpames
Sir Humphrey Gilbert was the first Englishman to send
colonists to the New World. His initial expedition.
which sailed in 1578 with a patent granted by Qucen
Elizabeth was defcated by thé Spanish. A second
attempt ended in disaster in 1583. when Gilbert and his
ship were lost in a storm in the following year, Gilbert’s
half brother. Sir Water Raleigh, having obtained a
renewal of the patent, sponsored an expedition that
explored the coast of the region that he named
‘Virginia.” Under Raleigh’s direction efforts were then
made to establish a colony on Roanoke island in 1585
and 1587. The survivors of the first settlement on
Roanoke retutned to England in 1586, but the second
group of colonists disappeared without leaving a trace.
The failure of the Gilbert and Raleigh ventures made it
clear that the tasks they had undertaken were too big for
any one colonizer. Within a short time the trading
company had supplanted the individual promoter of
colonization.
- Which of the following would be the most

appropriate title for the passage?

A. The regulation of Trading Companies

B. British-Spanish Rivalry in the New World

C. Early Attempts at Colonizing North America

D. Royal Patents issued in the 16" Century
7t : 299 sentence 9 I TWR- The first English
attempts to colonize North America were cuntrulled

by individuals rather than cnmpames




l
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l The Passage states which of tﬁ;fullnwing about

the first English people to be involved in
establishing colonies in North America?

A. They were requested to do so by Queen Elizabeth
B. They were members of large trading companies
C. They were immediately successful

D. They were acting on their own

MY : Passage @3 A =% the first English attempts
to colonize north America were controlled by
individuals 9 (9F N1 W oAt (individually) femiR
s, they were acting on their own.

Ans : D. -

m According to the passage, which of the following

| statements about Sir Humphery Gilbert is true?
A. He never settled in North America

B. His trading company was given a patent by the queen
C. He fought the Spanish twice

D. He died in 1587,

It : Passage 97 Tw@fRs =27 the failure of the

Gilbert and Raleigh..... had undertaken were too big
for any one ..... W ¥R RMA & Gilbert never settled
in North America.

Ans: A.
Which of the following can be inferred from the
passage about members of the first Roanoke
settlement?

A. They explored the entire coastal region.

B. Some did not survive.

C. They named the area ‘Virginia’.

D. Most were not experienced sailors.
IJIOT : Passage g The survivors of the first settlement |

on Roanoke returned to English in 1586 31 Wil A1
e 37 AR T Mo a3 I e g | wdie
some did not survive.

Ans : B. -
According to the passage, which of the following
statements about the second settlement on
Roanoke Island is true? -

A. Its settlers all gave up and returned to England.
B. It lasted for several years.

C. The fate of its inhabitants is unknown.

D. It was conquered by the Spanish.

\w : Passage 9@ Cfrea fAte To0 WeR- but the second
group of colonists disappeared without leaving o
trace.

Ans : C.

Complete the sentence in questions (31-32)

___is caused by a virus was not known until 1911.
A. That measles B. As measles

C. Measles D. What if measles

Y1 : Nominal that clause 49 f73% St structure
That + subj. + v. + obj. + v. + obj/extension
wIES G FF TFAT measles 96 singular W43 plural
©Sq verb o TACS A |

Ans : A.

It has been estimated that — species of animals.
A. There are over a million
B. it is a million or more
C. more than a million
D. are over a million of
1t : 92 that T clause marker T 25! clause (3 & FWXR |
structure 2 .
subj. + verb + obj. + that + subj. + verb + obj.
wdfie It has been estimated that there are over a million | |
species of animals.
Ans : A,
Pin point the error in questions 33-35
Although the social sciences different a great
A B
deal from one another, they share a common
C
interest in human relationships.
D

Bﬁ : Different <9 g1 differentiable I 1 -

Ans : B. -
Any group that conducting its meeting is in
A ' B
parliamentary rules will encounter situations
C
where prescribed procedures cannot be applied.

D
? : S (B) ¢S conducting <R #RfRT$ conducts T |

Ans: B.. i 2. Y BT M S TR ' '
“The publishers insisted that the author should
pay half the cost of the initial print run of his
controversial new book.”

Which correction should be made to this sentence?
A. Replace that with on  B. Replace of with for
C. Remove should D. Insert actual before cost

Ans:C. ol % e A IR et e S

Choose the best option to make a pair matching the

air given in the questions 36-37
'Oceans : Deserts :: Waves:?

A. Dust B. Send-dunes
C. Ripples D. Sea
TR : Ocean () : Desert (FgR) com AT o2
Waves (%) : Send-dune (I =4
» Rooster : Hen » Stanza : Poem -
® Gander : Goose e Story : Building /' .,

Ans : B. -
Forecast : Future :: Regret:?
A. Present B. Aton
C. Past D. Sin

I = Forecast (5&1S1) : Future o a1 7mida
Regret (752 &1 %#41) : Past (wr8re) fiw |

L OCEH.H . Bﬂ}’ ] Auﬂ]nr e Cup)mig]t .
e Continent : Peninsula e Inventor : Patent
Ans: C.
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Find out the best substitute of the given phrase.
KB A person who has just started learning.
A. Foreman B. Novice
C. Supervisor D. ;ABprentice
4t : A person who has just started learning is called
|| learner/Beginner/ Novice/ Apprentice 9ST FGTTR
w4 =z Frwiai |
| A person giving up his faith - Apostate.
A person who knows many language - ngl.ust.
A person who always cleats - Septic.
A person working in the same place - Colleague.

Ans BsD.
A disease which ends in death.
A. cancer B. deadly
C. fatal D. life sucking

JMT : A disease which spread by contact - Cnntagmus
The house of a gypsy - Caravan.
One who eats flesh - Carnivorous.
A period of ten years - Decadé.

Anmns: C.

Select the best version of the underlined part of the
sentence in questions 40-41

flll Walking by the corner the other day, a child, I
noticed, was watching for the light to change.
A. a child, I noticed, was watching
B. I noticed a child watching
C. a child was watching, I noticed
D. There was, 1 noticed, a child watching
POt : Walking 99 I&0 T IR O W G3AT @
noticed a child watching T3 1 .
Ans : B.
For a snake, shedding their skin up to eight

times a year is part of a natural process.
A. For a snake, shedding their skin

B. A snake’s shedding its skin
C. When a snake sheds its skin
D. To shed its skin, for snakes

I : A snake's shedding its skin up to eight times a
year is fart of a natural process- << % I b I
R SRS [l SFfes |

Ans:B

Rewrite the sentence starting with the part given and

underlined below, keeping the meaning unchanged in
uestions 42-43.

The band began to play, and then the real party

started. The real party started

A. after the band began

B. and the band began

C. although the band began

D. the band beginning
IR : 4GSt clause 9 past indefinite tense TR O]
3 clause 9 sequence of temse &% fRasiE@ past

indefinite tense =@ 1
Ans : A.

2017 (309)

FRl Chris heard no unusual noises.when he listened

m the park. Listening in the park.
A. no unusual noises could be heard
B. then Chns heard no unusual noises

C. and hearing no unusual noises
D. Chris heard no unusual noises

0t : Listening 97 TSI Chns TR A @'ﬁl Cl:ms
heard no unusual noises.

Ans D. b -

Answer the question based on what is stated or
implied in the statement or passage.

With varying success, many women around the world |
today struggle for equal rights. Historically. women
have achicved greater equality with men during
periods of social adversity — revolution, war, and thel
rig ours of pioneering in an undeveloped land the
essential element that improved the status of women
was a shortage of men. We can conclude thai-

A. women today are highly successful in winning
equal rights

B. only pinneer women have been considered equal
to men

C. historically, women have only achieved equality
through force '
D. historically, equality alone has not been cnnugh
to secure women rights

JRY : BYAIA equality @3 MR A wiwgw fAfve T
BT T | (@A A TF [RATRR T AT A I
NI IR TS Zafes | T AAeae e, T, @
8 WFS TSt (el i TS 7F |

Ans : D.

Identify the most appropriate relationship between the
two underlined sentences.

Social studies focus on the complexity of our
social environment.

The subject combines the study of history and
the social sciences.

What does the second sentence do?

A. It expands on the first sentence.
B. It makes a contrast

C. It proposes a solution
D. It states an effect

I : Social Studies TR ARETR wooet e THw
wm-mﬂwﬁmmmwwmmi
Ans: A.

Select appropriate phrase and idioms
‘Pardon my French but you are dirty’. Here
‘pardon my French’ means-
A. Excuse for swear words
B. Excuse for failure
C. Excuse for absence

D. Excuse for being dirty
It : Pardon my French - Excuse for swear words,
Turn a deaf - Disregard.
Hand and fast - Fixed.
Bring to book - Give Punishment. 5
Ans : A, : |




It is a rule-
(P) by anyone and admit
(Q) that must not
(R) of no variation
(S) be violated
A. QSPR B. PSQR
C. QPRS D, RQPS
YT : It is a rule that must not be violated by anyene

and admit of no variation.
Ans: A.

m Money, as a means of cxchange, is becoming less
common in modern societies all over the world.
Every year, a higher percentage of purchases
are made online, and even in stores customers
arc now using credit cards. Many people today
do all of their banking on the Internet. |
The author of the passage probably assumes that
A. cash will become obsolete in the near future
B. using cash will become popular again
C. paying with credit cards all the time s dangerous
D. socicties that do business online will struggle

JiYt : I8 T9F online Q @161 @32 credit card 9=

IR e wfgF 3= 1R ‘cash money 97 m?dam

T | obsolete - err?re{ﬁm | -

Ans : A,

Change the speech
FB] The teacher said to Mukesh, ‘Congratulations!

Wish you success in life.’
A. The teacher to congratulated Mukesh and

wished him success in life
B. The teacher congratulated Mukesh and wished

him success in life
C. The teacher wished congratulations and success

in life to Mukesh
D. The teacher congratulated Mukesh and said with

you success in life .
| [=itt : Direct @ Thank you/congratulate 9= Indirect
4 Reporting verb @3 sub + 'I'hankedfCengratuleted +
Reporting verb @3 object + ext. -
Direct : He said to me, "Thank you".
Indirect: He thanked me.
Ans : B.
Change the voice

Who is creating this mess?

A. Who has been created this mess?

B. By whom has this mess been created?

C. By whom this mess is being created?

D. By whom is this mess being created?

il : who 13- passive voice ¥4 structure :
By whom + auxiliary verb + sub + be verb + V; + ?
|| Active: Who will do the work?
Passive: By whom will the work be done?
|| Ans :

_ |

@leﬂge and Aptitude

‘Bar’ is a unit of-

A. Humidity B. Alcohol content
C. Pressure D. Depth
TN : G - r -.
[ == T 7 T
517 (Pressure) | 919 (Bar) LT ey
o] fior FS| aTb
= feoq | om, e, oM | oA
Ans : C. ' Ve -

A. Indira Gandhi
C. Zulfikar Ali B

&3 Each of the felluwmg persnnalmes was victims
of assassination except one, Mark the exception.

hutto

B. John F. Kennedy
D. Abraham Lincoln

et - mwﬁﬂwﬂﬁmﬁeemmm

frrezi |, 0.
-amwmeﬂﬁemmﬁewmwmm|
Ane 6C. . ¥
Since the Parliament was not in session, the
President promulgated a/an ___ in view of
urgency.
A. Act B. Order
C. Ordinance D. Statute

AIIEC. { Stt

TR : AR TR ST Ty a@sfEa St
(erdmanee) ea‘nmwmm’wmi - _

B. Antibiotics

Treatment of Dengue fever may require-
A. Platelet transfusion

C. Administration of propanolol
D. All of the above

W e Antibiotics (Sl AN €4 er:r B
‘e P]atelet Transfusion - 7o qmm |

ey -Prepenelel wmwmmW| .

Ans: A.-

B Which of the felluwmg is Ieast like the others?
A. Pyramid B. Circle |
C. Cube D. Cylineder

Ane | ;

Permanent Court of International Justice was
established under-
A. League of Nations B. UNO

C. European Unien

D. None of these

"The World Court
efsfire zrafie |

Ans: A,

IRt : o Permanent

® oS8l - 3530 @t e - 3BBY |

Ceurt .of Internation Justice ¥
- League of Nations @7 w8
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A “Vassal State’ is the one which is- Which is not a sound argument?
: A Sabrina wanted to be a better figure skater, so she
A. situated on the sea shore o q \ati
B. under the suzerainty of another state took extra lessons and practiced every day. Il-l.er skating
: improved so much that she entered a competition.
C. an independent state _
D. none of these B. Yesterday, a black cat ran in front of me, and
' m——— letter I lost my wallet. If" I don’t see that black cat |
4T + Vasal State T S /R TR T today, I would not have any bad luck.
| & I 718 | | C. We had a storm last night with hurricane
Ans:B. strength winds, and many trees were downed. There
Recession Is- _ . was a citywide power outage.
A. Slowing down of economic activity over a D. On a clear day. I can sce the top of Murphy
limited period | Monument from my house. If it is clear tomorrow, [
B. Period that results from accumulation of unsold will be able to see the monument.
goods, owing to fall in demand, Tt : Argument must contain a condition and the

C. Period during which unemployment may rise and | | outcome should depend on the condition.

demand and output may fall, leading to stump in trade. | | Option B and option D both have a condition each, but

D. All of the Above |in option B there is a option of day also (today,
o1 - S%TeF w1 a1 Recession X0 Si® w@ewew | | | yesterday). So the outcome is not clear in the option (B).

vﬁﬂﬁ,ﬁ%ﬁmﬁﬂﬁmﬁgﬁ,ﬁ?ﬂmmﬁﬂﬁ Ans : B.

&3], #tely 1 G BT &S | Who had defeated the Mughal army chief Man Singh?
Ans : D. A. Musa Khan ~ B.Kedar Rai
The Constitution of Bangladesh does not promise- C. Sher Khan D. Isa Khan
A. Equality before law T : SepY A A LI Serew Fe AW A T4
B. Equal protection of Law : GRS TP 6 T FIKEoe T | 93 T0a TP o1 2 |
| C Non-discrimination Ans:D. . ey
D. Capitalism L AN is an abbreviation for-
Nt : o TETRT R 8 TS ZR- TEIISRT, A. Large Access Network B. Local Access Network
|| s, STy e (3 fraTerFet | Bl C. Large Area Network _ D. Local Area Network
o T WIRTHA 92T 7ol (9 7L HqHRA) | “| | [Fr0ts e LAN - Local Area Network.
o WIZTAA WA TS Y WHSE (93) WL W@EATO FY ~ + ®MAN - Metropolitan Area Network.
9 TR | £ ; ~ + o WAN - Wide Area Network.
o AN e A Rr AL Ans : D. -
- 7 Inequality-
A. Creates new challenges in terms of domestic

.m Which of the following institutions is a part of : i o ” :
social stability, migration, and political violence.

the local government in Bangladesh? : .
A. Zila Porishad B. Upozila Porishad Eﬂn ;ﬁﬂ‘;i‘f:;a:g‘;ﬁng‘wm"t a8 |glocalization
C. Union Council D. All of the above C. Has caused scholars to reconsider the
TN : o Qe o W R g e Rm (e helpfulness of the term Third World.
“ffFaw, TojremE «fqaw uge (o “fFEm) | D. All of the options given are correct.
o 1T & @7 B g W 9y e (et Ens:l). - | . |
«a3: b ) | If you rearrange the letters CIFAIP you would
Ans : D. have the name of an-
Which is not a likely cause of this situation? “l1 A. City B. Animal C. Ocean D. River
can’t turn on the lamp in the family room!” It : CIFAIP — PACIFIC 3t wgritd (Pacific Ocean).
A. The lamp isn’t plugged into an electrical outlet Ans: C. Cageey
| B. We just bought a new couch in a color that Choose the number that is 1/4 of 1/2 of 1/5 of 200.
matches the lamp A2 B.5 C. 10 D. 25
C. There’s a power outage in the neighbor hood G | '
D. The light bulb in the lamp has burned out I : —-x—=x—x200=35
I : A) TS WHET it @ 1 YRS G ST St
Bty QRS °IITA | Ans : B.

ﬂ Which is the largest living bird on Earth?
A. Emu B. Ostrich C. Albatross D. Siberian Crane
Ans : B,
During the Non-Cooperation Movement, which
award did Mahatma Gandhi return?

- — = = — R
e

B) 37 7 4z %id Couch ¥ 76 TS @R -1 2677 T 71 |
C) 7R 3fta fps RSB @@ F@d TS A=t |

D) 37 amf 72 g, 1 grmm @ F Bom @R |
Ans : D, ,
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e e el

A. Knighthood B. Rai Bahadur | Who was not a member of the Freedom of
C. Ka;;ﬂ'e'Hmd D. Hind Kesari Intellect Movement?
(T : @ R € AR (Non Co-operation) FTATETETS ; i Motahar Hossain
St 13 | A. Rabindranath Tagore B. Qazi Mo

C. Kazi Nazrul Islam D. Kazi Abdul Wadud
® SR HWITHEET ATSE - o0 (4TF hh&i’lﬁ |

o {5 SRt SIeHER s TR w' TN i e Freedom of Intellect Movement 31 {3 (&

=" ﬁmﬁﬁmm; .’@11‘7-1 m ;i Wwwm@mﬁwﬁﬂwﬁ@!mmm)l
Satya]lt Ray won Oscar in the yuar - CEIFFT Wﬁw ST, Wﬂ’lﬁﬁ WWWI
A.1992  B.1994  C.1986 D. 1990 Ans:A.

T[T : o Sdpd AH ‘-‘T@‘Iﬁﬁ am ?Iﬁ‘ﬂ‘ 31?@ ‘EIT!fB_ctlﬁa &) | Which of the ful]umng statements is true?
O WFR FER AN 5 A. The people of Bangladesh '%hEtll be known as

° SI(ES A "lﬁﬂﬁ‘@ e - *Ttﬂm ’ﬁﬁlﬁl T Bangalees as a nation.
|LAns : A, g oo ik B. The citizens of Bangladesh shall be known as
. Polio wrus is prunanly transmltted via - Bangaladeshies.
C. Contaminated air D. All of the above
DMnthertufnetus T £ o AEH TR B() A TLRW 1 TR @
[|Ans: A, P AR e T ;ﬂ;ﬁnﬁﬁ T wife Boma ‘znmﬁr @R FARoAL Qe
l Republican Party via- o afRtezd) . ., .
A. one of the important parties in USA -mwwmmmﬁmﬂﬂwwﬁﬂm
B. the polities parties which has no definite principles hc ﬁ-@ hac TG 'ﬁm [
FI. the Pnlitical party which chqnges with the change | | 'Aqc’ D. )
E %tﬁﬁﬂg;;m Siupces I e couniry - The Winter Olymplcs started in -
AIIS D, . L R L PP g -‘ PRy M A. 1924 ' B. 1928
‘Plehlsmte’ is a term reacted to..... C. 1932 D. 1936
A.Law B. Politics C. Admission D. Students TN : o SRR CITT 7541 W - BB Id v xerite, B |
JMYT : ARNET (Pleb:smte)mﬂvrmtmwﬁsﬁaﬁm o uw Wyfie ST 1 Arvaiil SR ST -
Eﬁﬂ‘l‘?ﬁﬁ’mc@fﬁl g S0 A (qui, W)
Ans:B. Lo ' ' -awﬁwﬁﬂmﬁmm@m mawmu
74. Which of the fnl]umngs is an ml pmnﬂng b}f ARG A !
iaé';:;:n‘:eg]gmt C.Famine D.None of the above [E] Who is the first Bangladeshi cricketer to take a
T : Harvest 9as Farmne. m ST wmﬁzaa A0S hat-trick in One Day Internationals?
witat o | Wt e 5 A. Abdur Razzak B. Alok Kapali
o A’ ‘Eﬁ@ﬁ?@‘ﬂfﬁm G SRt C. Shahadat Hossain D. Rubel Hossain
AN AL Lo 2| | [ s q00b W RrvRmE Retr qwheE weEies
Bl Who authored ‘Kitab TarildI Al-Hmd’ (Histmr:,r of lndla)" (ODI) fIFas =RMIe @H 299 JFm faasr R
' A. Al Biruni B. Ibn Battuta -q,—iﬁﬁ:qsmm
. C. Anil Kumar Gain D. Abul Fazal . Ay o v _
[ : Wmmﬂ’ o = 32 m Which of the figures below the line of drawings
TR w_m oo % | best completes the series?
FroTe R T | ST ST N [\ mi
l - [EeRAT L il L1}
TRA-R-NIIA, WA AW | W T
i AT T I A.P&T ” | B /
S [ b Bl bl R IIlIII
Ans : A.

— - C_w_m ”'lz_l_t

|Ans:B. |

i ET— = ——— —




0). MM WA “TgA+ AT &Y FHL?
A ¢l B.9@dz@ C.I®IFamE e D. 5597

L : 0 TG AFER TRIRA (‘.'u?nb'b) %ﬁﬂmﬁ‘ ‘mﬂ

ICATET ABSRTS 7S |
-mmﬁwﬁﬁﬁmawmm%ﬂw:

° a&%ﬂﬁﬂmvﬁmﬁﬂm ﬁﬁiﬁﬁ'ﬂﬂﬁi’l’n

o TR SRR mwﬂtﬁ'ﬂaﬁvﬁ'ﬂﬁ?ﬁmwﬁ@m |\"

Ans : ) G Thaa iy

Wwwmr
A. @ER-Biet B. e C. foet D, sfa-fz

=-¢1ﬁwiﬁﬂmﬁmﬂrw@ﬁﬂéﬂﬁw|

| o ‘oA’ S0 dhe A (D00 ﬁﬁ‘rﬁ) C'T‘i?fﬂi ‘I‘B‘maﬁ
Wﬂiﬁﬁﬁfﬁﬁﬁ?l

FiRreterEt oo @AY TETET 1
B =19 B

° 00X TACHA A WL Wﬁ'ﬁﬁ@mmﬂmﬁﬂ% q@wq;
FE | @ YRS (PRSI I A GG, S,
S, Xgee, A B A el sfet fodl ‘sﬁ’a_;
.aﬁwwrﬂrqqm(ﬂ}ﬁm‘ﬂ?w W:

. ---1- P <A
Ans : C. Py bt el £ R

E 'ﬁﬁﬂmqﬁw{m-
7R T, T QT GRR’ - e @ FRor wwfer
A. SIE 51% B. 0% SR ST S

C. SITER e T D. o7 3fqel

I : o FFW I SRIWE,_ #C A W :.m
Wﬂﬁ?ﬁ ‘IRl WWWml i
SIRRR, NG WO IR ewgy Tt
o FRAARWERGH

‘“RE R etgIFE? s st Bl R
o I3 @ qza vz R g b WaL SRR R

o I 1 *Fw =T
Ul &2 TG &= W |
o XA 1 Itz A wifSy

| R Sl o T T |
Ans : C.

ﬂﬁmwmmﬁammr
A1 B9t C.

D. @G 78
[t : RE Fgef 3T A ion- .
IIT
| commz g=m/cem
wfEq Aot L
ufFg wio
ST SUIBE
55 L Ao

Ans :

D. 7o

R

_ _=-ﬁmﬁwﬁﬁrswmﬁiml .
-ﬁmﬁmﬁmﬂwwﬁmm|
SR AR
.aﬁwmmmwmaweml.

9% EHre ¢

Ans

I3 T

T TF

T (IO

B.

mqqﬁm@aﬁmwwwmm

Wﬂﬁﬁﬁﬁﬂﬁl
A. T qF
C. 9| qift

B. Sifgsate qif
D. Fact qft

T 20 A #HOT Y- T@, IRITE 91 TeA | | %
-wﬁww,@wwwmﬁﬁwmr 3]

o qIWES fFcs. ﬁmawm'ﬂ%ﬂrm o e
TRl “iaml T, ©IF A IR | |

& C"-'I"-i[?{ Wﬁmﬁﬁmw?{ﬂl

m ‘W-r::wr ﬁﬁmmﬁﬁﬁwmﬁm’-m
A. TRFE B. 9% e C, weifs D, Jarsacs

[t - -wmﬁﬁf—wﬁﬁmwmwm
war"mumnwwmﬁwm
feip o b-h-i:::h:[ri T > T :
| ‘a‘f}ﬂat | "
Ans : B. - | il
so. WWWHﬁﬂﬂ’Mﬁir
A. e B. wf<wiy $e1g
C. RS D. g 34
[t : Rg g onqml - ETE
ElREIE]] wq EIKEIE] wq
TR (T8 | W9 TR | W8 = [ 01 2Ry
werR I | ween | wE A | Fewes
| e o | A AOR
Ans : B.
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l wmﬁmwa'

. i ﬂtﬁm ST @ FACER WU A HHER |
CELET
A. Song of Sufferings B. Captive Lady
C. Song of Offerings D. Vision of the Past
TO1 : © FTAGALA ToteH FDAED S0 AN S 27 1.
® TGN I1FA TS 1S TR O Mo I T |
Metefrs b sea B FRot e s - 7

o Nolgf IR S SRR AW ﬁﬂlﬁSnﬂg nf
Offering Tl g1 rs 7 shd AT~ -

e TG IFA Song uf Oﬁ'enng fﬂ‘-l W }bb\‘.'.‘r Fm'ﬁ
CHICES 7[9%E 9| | o

>a. qﬁmﬁmﬁmmwﬁﬁmmﬁtmﬂww'

| Ans : C. TR ;
WWWWWW? E
A. T TCACE TR B. TR Ttz @
C. 9= 1= D. 7= o 1=

Tyt - ﬁmqﬁrﬁw@(aﬂﬁ)@nﬂmmww
waﬁ’rmmmwﬁu iy
4 ‘-ﬂﬁtrm T

Ans C L L I A A TR A r-.u

A. 9RR{ B. of& C 1 D.ﬂﬁﬁm

TR @ﬁl’aﬁ‘rﬁl N
-W%:WW@-WWW
SIS, wm‘w wiRkErs; ’?@m ’ﬁmﬂ ‘G‘ﬂ, wﬂ%?-z w
wmwimﬁn e i
mmﬁﬁﬂmqm'ﬁ-m @Eﬁw C"iﬁ“’fﬁ
Wwwwmﬁﬁﬁﬁwwﬁw
Ans : A. R o

38, ﬂmwmqﬁmmmm-
A I B.ugawm  C.ofe@sm D, wifd N

T : o TR ST (AT ARl TS siewt T sifewE e
-Q'WHWWWWWWPIEWI A

.aﬁﬂﬁmmmmwwwwm
TATe, @ﬁ@wwwwmwvfﬁmmﬁmﬁw

sE ey -

Ans: C. | "

V¢, ‘RISTSY /eSS TE AN W9 .......
A. TR G SWmES B. {2 ¢ favma
C. cib 1 fome D. ef$ &1 Ror 3537

R - ﬁaﬂmmmm'mﬁﬁamﬂ'asﬁﬂm
%@Fﬂﬁﬁmml

‘SR WA @I FRE0T | A wmm wﬂiﬁ’r
wmwaﬁs@l

|| e ﬁ%mmmmmﬂm?wwawrﬂ#cﬂémﬁmu
Ans :

| S iﬁﬂmmﬂmmwﬁv‘rﬂ
A. SR B. TaF C.aE D. 4 weal

Tt : » AR TS I G FR IS [ FER0 SER

2 AT I e o afte 4R SRR, FEf, st

Rt OER e stk 4 fRTer |

o 3 FTfRreTs Buv- SEw SIS |
cm—\ﬁmﬁwrﬁcmaﬂMﬁmﬂﬁaSﬁ ﬂ!?ﬁ’iﬁ’l'ﬁm

Ans : D.

A ~ SRS i e

A. SR B. &4 8 ®
CWW D. S A

o TrRe TR wgE. voEE WEY T HTT0
'cﬂmﬁwﬁsuﬁiﬁwﬁwmawmmt
:-a%mﬁmﬁwmwﬁﬁmﬁﬁmﬁiww
A
-.eﬁmwmmﬁmmmcﬂ#l

mmmmmmmﬂﬁmwﬁm
WWWW1 N

-wwqwmwmwwﬁmwﬁw
W@WWWWWWWI

Ans: C.
M., c-mrmm ?ﬁwwmwwwm:
A. ISR (Y B. (= 5191
C. 7%+ : IDRCLE|
[t WWWI .
Ans Ci
3s. ﬁﬂ@ﬁﬁwﬁmmﬂwmwwﬁw
A. T B. %
C. ﬂmﬁ’mﬁsﬁ D. S s

T[T -mﬁwwmmmqqmm
rwwmm

.-wmmmﬂmuwm AR WG 6T T

(339Y), T (>3v), 5, TFERIeE WA SR (350-), | |
QT @I (Sdbrbr), IR M ETH e |
> FTI T - Tl wm(am) tﬂﬂ&'ﬁ‘lﬁﬂﬂﬂﬁ%ﬁ(ﬁh&nﬂ
Ans:'B.
Xo. ﬁmmm‘qrawa'q‘mﬁmwmfﬁwmmr
A. fiteafs B. frefemm sBiftw
C. Fefeenfs _D. T waa
S Wﬁamm i
Ans D Iy

3. wﬂ’ﬂtﬂﬂﬁ@w@ﬁm
A. 7R

B.
C. = D
TNYL : o ‘1AW Mg wd- ity |

-*‘W‘T mmﬁmwm wﬁu
AnsC'

W, ﬁrﬁﬁﬁﬁwmr

A. To @3f TibT @ ety

'B. TFOIH G 275 @ IRy

C. TR s Frenarg @ ot
W"'?ﬁ"”"‘%ﬂmmﬁmmwl
'ﬁﬁmWﬁﬂmm|

® YD T TN T ST SR a5 Bl et 0

LAns: A,

e —
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-a:a ‘The more, the merrier’ IS QRIN-
A, aFoM By, {rem o/ B, 3% A%, 3RS 71}

C. W% 7 ¢im¥m __D. @A®Z 7y
TN : BE wwgS em-ape- P
A6« Translation
ST o MW The more, the merricr
H50e 71 ST B0 991 | A bad workman quarrels
with his tools
TG IR, (TS IW | A burnt child always fears fire
2 WA &t A cat has nine lives
WHIAAT SUE A little leaming is a
dangerous taing
38. thmaﬁrmw:
A, TITF B. *tmq C. A D. “taa
it : -WWWmeﬂacw|

o 5ot i (et STt oo e
o 5ot T e 7 271 cﬂmﬂawwaﬂ
o T1°m :shqﬂ:ﬂﬂ%ﬁ*ﬁﬁﬂfﬁ ﬁmmw

Ans:C. i e

.aﬁmaﬁ-amaﬁwﬁmmr
A. FRYRBT B. 5qgaics
C. sifa4ans D. 359

YT = o SIRLIALF =1 : awwwﬁammwm
6% =1 T 41 TSR, mﬁwwam fe i

mmwwwmﬁu O s
Ans:C. . . ok . 2k | -":-‘:‘;FE" T

Read the following passage carefully and answer
question 26-30 :

Anthropologists have pieced together the little they know
about the history of left — handedness and right-handedness
from indirect evidence. Though early men and women did
not leave written records, they did leave tools, bones, and
pictures. Stone age hand axes and hatchets were made
from stone that were carefully chipped away to form sharp
cutting edges. In some, the pattern of chipping shows that
these tools and weapons were made by right handed people
designed to fit comfortably into a right hand. Other Stone
Age implements were made by or for lefi-handers,
prehistoric pictures, painted on the walls of caves. Provide
further clues to the handedness of ancient people. A right-
hander finds it easier to draw faces facing toward the right.

Both kinds of faces have been found in ancient painting.

On the whole, the evidence seems to indicate that
prehistoric people were either ambidextrous or about
equally likely to be left-or right — handed.

But, in the Bronze Age, the picture changed, The tools and
weapons found from that period are mostly made for right-
handed use. The predominance of right-handedness among
humans today had apparently already been established.

Bl What is the main topic of the passage?
A. The purpose of ancient implements?
B. The significance of prehistoric cave paintings
C. The development of right-handedness and lefi- |
handedness
D. The similarities between the Stone Age and
Bronze Age

Yt Passage fGr- cave paintings (& base I left
handednass =R Rl ght handedness eaf ®erzifefs 2wz |
Whmh of the following helped Ilecad to
conclusions about whether Stone Age people
preferred one hand to the other?
A. Petrified forms of vegetation

B. Patterns of stone chipping

C. Fossilized waste material

D. Fossilized footprints

it Pasaaga «'feEafbg Srerd e Both kinds of fa::aa

‘have been fauad n aacientpamtmg
‘Ans :B. .. g

. Accardmg ta tha paasaga, a parsan wha is right-
handed is more likely to draw people and
ammals that are facing-

A.upward B. downward
C. toward the nght D. toward the left

I : Taward tha laft ?IWﬁWI
Ansi D

In tha Iast paragraph tha wards “tha picture”

refer to which of the following?
A. Faces of animals and pecople

B. People’s view from inside a cave
C. People’s tendency to work with either hand
D. The kinds of paint used on cave walls

R Paasaga q "the plctura" L[5] macaa PI'E S Fle
I_A“s C.. Eid il i B8y 4

The author lmphaa that whmh af the fallamng
developments occurred around the time of the
Bronze Age.

A. The establishment of written records

B. A change in the styles of cave painting

C. An increase in human skill in the handling of tools |
D. The prevalence of right-handedness

[t : Passage & Ao T@d wi- But in Bronze age,
the picture changed, the tools 8 weapons found from

that period and a:a::ratlj,»r made for night handed use.
Ans : D. ' |

Kl Certain species of penicillin mold are used to

Pinpoint the error in questions [31-33)

A B
ripe cheese.
C D

Il : Ripe (Ad).) - 1= |

Ripen (v.) - =9I |
w#1 (C) ¢S verb 992 | Ripe @3 &leii Ripen ‘-’{ﬁ I%
Ans: C.




Drying food by means of solar energy in ancient | Select the best version of the underlined part of the

A B sentence in questions (38-39): _
process applied wherever food and climatic Going back to his old schunl,_ everything there
C looked smaller than Don remembered
conditions make it possible. A. Going back to his old school
D B. When he went back to his old school
I : Option (C) ¢ verb v passive T | 'applied' @7 C. To go back to his ﬂld_SCh““l
ST 'is applied' TR | . ki D. As he went back to his old school
Ans : C. $6 ety Ay T+ X 1 O R T (A PR, TR (0 7R
k&) ‘I was looking forward receiving a quick reply of f:s . B. __-:‘_:_'I el -_ * :

il f ’. Which i db - =
I Eﬁdﬁu t;i{;n;ei::ng:f el Eacrection Seould be I was surprised by the noise peering through the

A. Change was to am window to see who was at the door.

5 o b sivin AT v sy o i T
C. Remove quick . 1 was surprnised oy s P

D. Replace looking forward with expecting C. The noise surprised me, peering

= : ——-| D. Surprised by the noise, I peered
With a'view to = | | 't : Surprised @R "I" w12 3@ o I peered TH |
/L : Egﬂ%lﬂgft?rwmd v + verb + ing A | | [ AT D T e e
| conducive to i RIS e TR R - Rewrite the sentence starting with the part given
4 was looking forward to receiving. =~ oo and underlined below, keeping the meaning
Ans : B. ' AL P AT R AL ” changed in questions (40-41)
Choose the best option to make a pair matching the It began to rain, and everyone at the picnic ran
air given in the questions 34-35 to the trees to take shelter. Everyone at the
Insert : Extract : : Mighty picnic ran to the trees to take shelter.
A. Thin B. Strong A. beginning to rain
C. Frail D. Feeble B. when it began to rain
2101 : » Insert - (ORI Extract <:(3# ;9@ Reifre C. although it began to rain

D. and it began to rain

T+ 79 7% T AR (G S S e |

o Mighty - Fwerei; Feeble - 53, Wﬁﬂﬁiﬁ
Ans : D. o RN e TERY C R o
Marshal : Prisoner :: Principal

”h]‘lﬁ: B gt T v ool B el
After three hours of walking the museum, the

A. Teachers B. Student entire family felt in need of a rest. The entire
C. Madam _ D.HeadMaster family felt in need of a rest. S
it : Principal is a person in charge F’f'ﬁ?ld?"tj 4 A. walking through the museum the three hours
Marshal is a person in charge of Pl_'ls‘.:ﬂnﬂl'.' e B. having walked through the museum for three hours
Ans : B. I | AR C. and they walked through the museum for three hours
Find out the best substitute of the given phrase in D. despite having walked through the museum for
uestions (36-37): three hours |
' The policy of extending a country’s empire and m LN B Ay iy oy TraiL
influence. f.-insu_rer _n'te question 42 best on what is stated or
A. Imperialism B. Capitalism H"’Eﬂ' in the statement or passage:
C. Internationalism D. Communism | Leonardo da Vinci is not only one of the most
[zt : The state of being father - Paternity. Lt l lf:"m“‘fﬂ “"“5'-'5_ in history, but he was also 2
The killing of a father - Patricide. - t“;““:“a a writer, and an inventor. Many of
The killing of a mother - Matricide. QA ' oday’s modern machines can be traced back to
Ans : A. g - 1oy some of his “l'lglﬂal_ designs. The parachute, the
Life history of a person written by another. m1[1ta?- tank, the bicycle, and even the airplane
A. Autobiography B. Biography :-vere uretnld: O_ver 500" years ago, his ideas
C. Bibliography D. Memoir i:ﬂﬂslzﬂflded hls.tm_le. :I‘he author of this passage
14t : A baby carriage - Perambulator. l A pﬂﬁil::iggt;{: Tlnﬂl primarily for his
| Carriage for sick people - Ambulance. C. foresight 0 E ?telllgence
One who walk on ropes - Funambulist © =——— Fﬂresight g : an*:e
AI'IS  B. ' | AI'IE . C,
 — .
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Identify the most appropriate relationship between
the two underlined sentences:
Paris is a city that has long been known as a
center of artistic and cultural expression.
Paris was home to many famous artists and
writers from around the world.
What does the second sentence do?
A. It reinforces the first  B. It states an effect
C. It draws a conclusion D. It provides a contrast
T : RS ESE et R i e o R
fffe @S I | B2 b IS [ATe Pl @ @ITmd g

o sfafbe s | G 39 sentence sentence o X
sentence W< A 91 TAIEA | e it

Ans : B.
Select appropriate phrase and idioms in question 44:
My gossip habit was getting out of hand so I
decided cold turkey’. It means—
A. An eccentric person B. An undesirable person
C. A pious person D. A jolly person
ot : Cold Turkey - TS A CRE Zd [Rafe fe
TVIEY CREE "R g™ L.
Eccentric - Sgs, W6, cAEme B, WEas( |
Which of the following options constitutes a
complete and meaningful sentence?
Reading books '
(P) is a habit
(Q) but also enlarges the mind
(R) because it not only increases knowledge
(S) which must be cultivated by every body
A.PQSR  B.SRPQ C.PSRQ D.PQRS
Tt : Reading books is ‘a-habit-which must be
cultivated by everybody it not only increases:
knowledge but also enlarge the mind.

. L -~k
] [
-y
2

Ans: C. :
m Television has been introduced to almost every
country in the world. About 600 million people
saw the first person walk on the moon.
Television has in many ways promoted
understanding and cooperation among people. It
does this by showing educational and cultural
programs. Identify the most logical conclusion-
A. people spend too much time watching television
B. not every country needs to have television
C. television can unity people from around the world
D. television is as important as schools

T : TV 20S FErsay W [Gaw 9 |

Ans : D.

m Cartoonist Schulz as a boy was teased by others
for being small and not very good at sports, and
art. He had few friends and was too shy to talk
to a red-haired girl he admired. Later in life,
Schulz used his childhood experiences in his
successful comic strip Peanuts : the strip’s main
character, the sad and lonely Charlie Brown,
represents Shulz as a little boy.

What is the main idea of the passage?

E

A. peanuts was the most widely read comic strip
B. Schulz was a cry famous cartoonist.

C. Schulz turned the pain of his youth into success
D. Peanuts featured children as its only characters

7T = Passage @ S Schulz ©17 F8 ATSM SIER

PRt o I eeR Wl o e
Cognition refers to —

A. The ability to recognize

B. The reflex to condition

C. The faculty of perception

D. An inclination towards seeking recognition
?IIHIT= Cugmtinn -_mm! Gﬂ’d I | ! . gy ‘s g T

" ‘Perception - &, Qg1

Ans: C.l _
~ Change the voice:
After driving Professor Jones to the museum she
dropped him at his hotel
A. After being driven to the museum, Professor
Jones was dropped at his hotel
B. Professor Jones was being driven dropped at his hotel
C. After she had driven Professor Tones to the
museum she had dropped him at his hotel
D. After she was driven professor joins to the l
museum she had dropped him at his hotel.
| 3t : After driving 9% passive ¢ after being driven,
She dropped hifn 93 passive %M he was dropped. ®1R
Gl it A A |
IN TR g SR T b e g ety
Change the speech: !
Manna ‘asked, Rohan ‘Have you sat in a trolley
bus before?’

A. Manna asked Rohan it he has ever sat in a trolley bus |
B. Manna asked Rohan whether he had sat in a
trolley bus earlicr

C. Manna asked Rohan had he sat in a trolley bus before

D. Manna asked Rohan if he sat on a trolley bus before
MGt ¢ Interrogative sentence @¥ indirect TR R | |
= sub+ repenting verb @7 “R@TS asked + if/weather +
sub + tense SFART verb + object. - dhi

B |

@nuwledgc and Aptitud | I

Which dynasty did Razia Sultan belong to?
A. Khilji Dynasty B. Slave Dynasty

C. Tughlak Dynasty D. Lodi Dynasty |

A ¢ IR Raven OF T AfeH e NS
IS 31 S S S CATS ST X7 R i

Ly
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‘Plebiscite’ is a term related to ........
A. Law B. Politics

C. Admission D. Students

.W=Plebiscite*ﬁﬁ?m(@ﬁjwmﬁm t
Ans: A. | o 53




EVA stands for -
A. Economic Value added
B. Economics Value Addition -
C. Economics of Value Additional
D. European Vanilla Association
It : EVA @3 3551 Economic Value Added.
Ans: A.

Which of the following is not a fossil fuel?

A. Biogas B. Natural gas C. Uranium D. Coal
I : memeﬁemﬁmeﬁiﬁmeﬁm
Ans: A, C,

The, term of Judges of lnternehenel Ceurt el‘

Justice is-

A.7years B.S5vyears C.11vyears D.9 years
I : International Court ef Justice - ﬁb‘mﬂﬁ‘m i
IR &0 e = :
Ans D. b -

I Convention on the Law of the See was mgned et

Jamaica in-

A. 1948 B. 1975 C. 1982 D.none

[T : FH W AT SBYR A 30 %mwﬁmrﬁem
RS =7 | ol

|LAns : C. '

A “floating island” is —
A. an island within three nautical miles from the
coast of a country

B. an island on the high scas, which is not the
territory of any particular state

C. a ship bearing the national flag of a state
D none of these

1t : Floating Island R FICH IF *m‘ﬁ: ﬁ‘J’BE[ 1
Ans : B. :

Transparency lnternet:enal 1S eeneerned with :
A. Advocacy for corruption

B. Promotion of corruption

C. Promotion of bad governance

D. None of the above

Tyt : o JFeER TR SR crRed b )
o 2fSfF® 77 Spdo I | | et

o 3 Y TS TA FANS AU |
Ans : D.

Winch is not a valid argument?
A. There are six cans of tomatoes in Carlo’s pantry
and 14 in his basement. There is no other can of
tomatoes in his house. Therefore, he has 20 cans of
tomatoes in his house.

B. Everyone northbound on the interstate yesterday

was late to work. Faith was northbound on the
~ Interstate. Faith was late to work.

C. Humayun lives in either Kansas city. Kansas or Kansas

City, Missouri, Ifhe live in Kansas he is an American.

D. No one who eats in the cafeteria likes pizza, My boss

eats in the cafeteria. Therefore my boss does not like pizza

AT : WP (C) = MaT! Site Humayun Kansas city,

Missouri (S 9T | (IR FH 4F TE & @ e TR
|| 4Bt am =1 | =12 Sop (C) 93 I 1 |
Ans: C

i

:2016-2017 (318)
| @ Which is a judgment, not a fact? |
A. The production of Hamlet was ﬁrst-rete you
WIII never see it done better.

B. The production of Hamlet was ﬁret—rate, it was
cited as such in the daily news
C. The production of Hamlet was ﬁrst-rete it won
an award this year
D. The production of Hamlet was first-rate: 90% of
eudlenee members mtemewed aﬁer lhe shew egreed

Whleh ef the fellewmg dewees steree

instruetiuns that help the computer startup?

A. Key___eard B. RAM C ROM D Hard disk
Ans:C. Dl g .

What is the tregedy ef the eemmene"

A. It results from an inherent tension between

collective and individual responsibility

B. It can always be resolved through privatization

and nationalization of the commons

C. ltis independent of the eerrying capacity of the common

D. All ef the qptlens gwen are correct

|J&n5 j& A%, : :
Aehekﬂ emhreeed Buddhjem and preached it
during the rest of his life
A. Before Battle of Kalinga 261 B.C
B. After Battle of Kalinga 261 B.C
C. Before Battle of Hydaspes 326 B.C
D. Aﬂer Bettle of Hydee pes 326 BeC
‘Ans': B, il gl e 2 2T s |

. - i = x i " J -
‘ ] k “1 ta i | ¥ .- [ |

What is the missing numher iu the sequence
shown below?

1-8-27-7-125-216 |
A. 45 B. 46 C.64  D.99
T L LT L LIRS 77 ey e
j;. _1.-£¥8i“ 27 . 64 125 216 f:,1
Ane C.: AR 88 5 e R e ; |

. Wlneh one ef the fel]ewmg things is the leest like
the others?

A.Novel _ B. Painting C. Stetue
BURE ﬂmmﬁmmﬂﬁ!
Ans: o ) UGkt

Mehendes Klremehend Gandln was called as
Mahatma by-

A. Bal Gengadher Tilak B. Rabindra Nath Tagore
C. Jawaharla Nehru  D. Motilal Nehru

[T -hhmewmemwm “ﬂw %ﬂﬂ'ﬂ
ﬂﬁﬁ’.ﬂlﬂlﬁml -

Wﬂmwwww| '.. a

I:t: h;ltlm-‘-lll The story of my expenments 'Wlth Truf M.

. Which of the following is not
university? : permltted

A. Eveteasing

C. Sexual Harassment
Ans : D.

D. Flower l

in any

B. Ragging
D. All of the above




68. The use of speech-like but non-meaningful
syllable rather than meaningful speech produced
in musical form is called.

| A Glossolalia B.song C.Lyrics D. chants

It : o “Glossolalia™ 3t “Speaking in tongues” '{Eﬁ
T Y39 meaningless syllables |

e Glossolalia & “Unknown Mythical Language” & 3123 |
e Chants T like songs 91 musical forms C’IﬁﬁTmmnmglﬁs

Ans A.
[ " Which of the following countries has played the

' highest number of test matches in cricket?
A. South Africa B. West Indies

C. Australia D. England
w q +f8 JAvw Q@ GEe &% 5 Hﬁrﬁiﬁﬁ
32, et S s - Elvﬁﬁml e

AmD

[} Which of the fu]]nmng is ot the aﬂmuustratwe

| unit of Bangladesh?
A. Province B. Division C. District D. Upozila

IOt : et 93 FBA (Unitary Government) T
memﬁﬁw&ﬁﬁ Prﬂwncﬂ‘{\ﬂtﬁ'rﬂ?u '

Ans : A.
m Who introduced Police systam in Im:lm"Ir
A. Load Wellesley B. Lord Minto
C. Lord Hastings D. Lord Cornwallis
Tt : -aw-w—%ﬁmmmaﬁwwmm;
R WA | b

.....

(Sbrd FHITE) | i
e ST 7fer TIY! Bl L - ‘Gm?{ﬁﬁlﬁ (:-qﬁqmrﬂ) f=

Ans : C.
ﬁ Who among the scientists of Bengal Renaissance
is the writer of the book Response in the Living
and Non-living’?
A. Satyendranath Bose
B. Ani] Kumar Gain
C. Prasanta Chandra Mahalanobis
D. Jagadish Chandra Bose

TNt : o R G TH T ‘Ef&twmwﬁrq e
S SR & SRR I o

e O 7M® 4% - “SS" ; Response in the lmng and
non-living &3f$ |

Ans: D. - .

| Which event has been described as ‘the effective
birth of economics as a separate discipline’?

A. The emergence of the 18" century French physiocrats
B. The publication of Adam Smith’s ‘The Wealth

of Nations’
C. The development of Keynesian Economics

D. The codification of economic formulae in the
city States of Summer
RO : 3998 A GEIfST Te WTe P @ “An Inquiry into
the nature and causes of the wealth of the notions” 3%

ﬂmwwﬁ%mmﬁ:wwwmm
$:B.

iZ1 Which of the following statements is true?
A. The people of Bangladesh shall be known as

Bangalees as a nation

B. The citizens of Bangladesh shall be known as
Bangladeshis language

C. Bangalee nationalism is based on culture and

D. All of the above

ML : @ AT T Y(R) TR IR 3911 AR T JTeert
;wﬁﬁmmm R AN IR BT e T |
:-nwawwmmwmm’fﬁw
ﬂﬁﬁﬁmmml At e

Ans’: D. A
(A The med:terranﬂan type r:l:mate is characterized by-
A. hot dry summers and mild to cool wet winters

B. Warm winters and cold summers
C. Rains throughout the year
D. Wet summers and dry winter
TR : AP B S W TR- ﬁﬂﬂw
St mqﬁm ﬁw gt
Ans': A. o : ' =
m. The furmulaﬁun ﬂl' reﬂgiuus beliefs always involves-
A. The interpretation of facts
B, Literalism
C. Interpretation of written text
D Figurativism

Match the fﬂllumng —_

I. The Gobi A) China

II. Karakum ====----—— B) Uzbekistan

IIl. Kyzylkum C) Turkmenistan
IV. Taklamakan D) Mongolia

A. 1A, IIB, IIC, IVD
C.ID, IIC, ITIB, IVA

B. IB, IIC, IIID, IVA
DICIIA]]IBIVD

Tt : ﬁmmquﬁ
L G trm?r YA
The Gobi | ot Kyzylkum | Sowi™
Karakum | T¥WM@M | Taklamakan C]
’ Thnr SIS @ Wﬁﬂ Great thnna ‘ﬂiﬁfﬂm |

Wlm:h uf the I‘ulluwmg countries played to compete |

for third place in FIFA World Cup 2014?

A. Brazil And France B. Brazil And Netherlands

C. Netherlands and Belgu.u:u D. France and Belgium |
Ans: B. e L : |

Paradux 1s a statement that is-

A. true if and only if it is false but false if and only I
if it 1s true

B. Difficult to understand
C. Self-contradictory

D. False
Ans : B.
Y What Number should replace the question mark?
6 4 2
3 (12 2|8 714
A. 0 B. | C.2 D. 6

Ans : B.

S ==y



